EARAROBREBRT —5 XN—ZXBISH—F

2022648178 (B) 20&R18

Eﬁﬂﬂﬁﬁmﬁmﬁﬂgﬁga;ﬁ B3 H>%3% EEE N
[xE&] 1%&:350,000H  2&:112,000H  3#&:5,000H  43%&:42,000H  53&:35,000H
B RS FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
o < SUIES : -2-2- - EBE% (&R)
1B zEUY RV 33 BUER 1.(3_1).5 3-2-2-3 | 38.4 1 (i?j) :\yf—ﬁ$ )
RiEYIT7—Y— §:RI—-Uy 5T aF JIE—
== 4 3 | ERHELE 1:32.1 2-3-3-2 |38.8| — 4 507 | Efake (&R
] : MEEEEEERE %.0 & o) | ABEE
RNRMOD B:Va7VLINY HOvFIT7—LA
w t 3 | PEEt 1:32.2 1-1-1-1 [39.3| - 2 44 | NBRIR (&R
3(7) 9| AvATA ! 5.0 @) oy | @ Jr—2hevay
R:Va—hnrFy—/ #:YRAI-ILFVT ESHhI7—L4L
0 . MWPEth : -6-5- - HiE—t (BR)
40 7| Y BMULN=T o3| BR 1.(363).4 6-6-5-4 | 38.9 6 ?339) dilal
RIN—HANR B RI—U—~A 2B B
° . EiEgahpE : -5-4- - )1z (&R)
slgls|/fOTYA5— 4 3 5 1.35.1 4-5-4-4 | 40.2 5 (3:329) Ball oy
R:O—RAFO7 B:Fa1997H— &M JIE—
S s 3 | SHEHE 1:34.6 6-6-7-4 | 40.1| — 7 | 38 |HIEERZ &R
EH 3 9 /T0—X7 R £ 2172 (-7) |dLPAsEtE
Rib—tr5— BIYIIFUD—-IYV =6 %15
4 3 | JESETE 1:34.7 4-4-5-7 | 40.5| - 3 458 | HIFEZ (&R
71810/ FYRTzU—Fz 54.0 ) () |HAEE=
RDVFPURAYVU— BRARTIZ—Fz gl A
» S FEREAT : -8-8- - BREMRE (BR)
8 2 | AATUVER t3Eh (19%(75;) Aad kot 8 (4394) ’]E;:Fé\
RiTFRIAVL—Y 8:0—LFVZvIR BET7—L
= s 3 | BABAR 1:38.5 6-8-9-9 |43.3| - 9 | 408 |EH-S &R
9[1]1|FFT3 54.0 @) 1y |dE
R:ZIWFNSV2 B:ZEH90IS5vT ple sk e ]
o ° 3 | BRERKIM: 1:39.6 10-10-10-10| 43.5 | — 10 | 43 |FAESE &R
10811 E¥YZINT T e 54.0 ®) © @ J PN
R:¥YUSTviR B:haARY L &
— - e e _ - - - | = - = @R
7|8 7T3AND YT — w380 (EGH) (=) %E%ﬁ()
R:DSAOVT— B:UEZEVR YA T 7—L
@ 1—F—&RIEL
13—7— 9,4,6,(5,10),(1,3,7),2,11
20—F— 9,6,4,10,5,(3,7),(1,2) ,11
30—7— 9,6,4,5,(7,10),3,2,1,11
40— — 9,4,6,(3,5,7),10,2,1,11
0 ILRE
BB 6 110 JA R 4-6 190H e B 4-6 410M 3EE 4-6-9 460M4
B B 6 1009 6-9 1409 (=1 6-4 5004 3EH 6-4-9 11,0604
4 180 4-9 380 Fs E 4-6 380M
9 110M9 =51 6-4 3904

ABIC OV TRUTEREERRODDZE. THRIIZEL.




